Please make sure that all of the problems can be done correctly before taking on the assignment.  I will need to see all of the work and formulas used.  There are only 8 problems for 9 credits!  If the work is going to be composed by hand and scanned, please make sure it is very legible.  Thank you very much.
1) Are the following distributions probability distributions?  If it is not, state why.

a) 




	X
	2
	3
	7

	P(X)
	.5
	.3
	.4


b)

	X
	3
	6
	8

	P(X)
	-0.3
	0.6
	0.7


2. The following table lists the probability distribution of the number of refrigerators owned by all families in a city. Study the distribution and answer the questions.

	x
	0
	1
	2
	3

	P(x)
	.02
	.65
	.26
	.07


The probability that a family owns:

a. Exactly 2 refrigerators is: _______

b. More than one refrigerator is: _____ 

c. Fewer than 3 refrigerators is: _____ 

d.  The mean of the distribution is ( = ______ 

e.  The standard deviation of the distribution is ( = _____ 

3. The following information describes a binomial probability distribution.

Suppose six percent of all credit card holders eventually become delinquent. Suppose we select a random sample of 10 credit card holders. Find the probability that:

a. Exactly 4 become delinquent: P(4) = _____

b. 7 or 8 become delinquent: P (7 or 8) = ______

c. 0 become delinquent: P(0) = _____

d.  The mean of the probability distribution is ( = _____

e.  The standard deviation of the probability distribution is ( = ____ 

4)  A population has a normal distribution with a mean of 150 and a standard deviation of 30. Find the probability that a single element selected from the population will have a value between 139.50 and 167.25. 

5) Use the population described in problem 5 above. Now find the probability that the sample mean for a sample of 16 elements selected from the population will be between 139.50 and 167.25. 

Explain the reason the answers to 5 and 6 above are different.
6) An exclusive college desires to accept only the top 10% of all graduating seniors based on the results of a national placement test.  This test has a mean of 500 and a standard deviation of 100.  Find the cutoff score for the exam. [Assume that the variable is normally distributed]
7) A normal distribution has a mean of 25 and a standard deviation of 5. Calculate the probability that an element selected from the population is:

a. < 12

b. > 30

c. Between 20 and 32

d. > 36

e. Between 16 and 27

8)  You plan to open a men’s clothing store. Your research shows that men have normally distributed heights with a mean of 69.0 inches and a standard deviation of 2.8 inches.  To minimize start-up costs, you will not stock suits for the tallest 10% and the shortest 10% of men.  Find the minimum and maximum heights of men for whom suits will be stocked.










